



Revelry Event Designers

04/29/2025 08:00 AM | Load In - Maybourne PO: 04/29/2025 09:00 AM | Load In - Candela 04/29/2025 08:00 PM | Event - Maybourne 04/29/2025 10:30 PM | Strike - Maybourne 04/30/2025 01:30 PM | Changeover -Candela

04/30/2025 10:30 PM | Strike - Candela

Shipping Address:

4.29 MAYBOURNE: 225 N Canon Dr,

Beverly Hills, CA 90210

4.30 CANDELA: 831 S La Brea Ave Los Angeles CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

escription		Qtty	Price		Total
Velcome Night	@ Maybourne				
	Club & Lounge - Scallop Loved Chars Custom Sage Monaco Cover Frame Painted in Black	8	\$0.00	Т	\$0.00
	Barback - Boston - Round W/ Plexiglass Tier Shelves Painted in - Underground Garden 4'2"D x 7'2"H - Color Upon Request	1	\$350.00	Т	\$350.00
AND THE PARTY OF T	Bars - Cabo San Lucas - 16' Round With custom Trellis front Painted in Green matching Lounges 16' D x 3'9" H; 24 3/4" floor to first shelf; 19 3/4" first shelf to second shelf	1	\$4,000.00	Т	\$4,000.00
	Bars - Cabo San Lucas - Straight 8' Bar Custom Made trellis Front Painted in Green Matching Fruniture 8'W	1	\$900.00	Т	\$900.00
	Pedestals for Bar with trellis to Match Green on Furniture	2	\$0.00	Т	\$0.00
	Barback - Nantucket - Wood Small Painted in Green Matching Sofas Colors 4' x 18" x 5' H - Custom Color Upon Request	3	\$245.00	Т	\$735.00
	Garden Sofas - Scalloped Love Seat Frame Painted in Black with Sage Green Monaco Covers	2	\$0.00	Т	\$0.00
to the second	Garden Sofas - Scalloped Love Seat Frame Painted in Black With Sage Green Monaco COvers 50 1/4"L x 22"W x 27"H	2	\$275.00	Т	\$550.00
	Custom Cabana Love Seat - Scalloped Black Frame 4'x8' x	2	\$0.00	Т	\$0.00
	Custom Made Garden Dining Chair Scalloped Painted in Black with Sage Green Monaco Covers	32	\$0.00	Т	\$0.00
	Custom Made Sit Down Tables Painted in Black 36" x 30"H	8	\$0.00	Т	\$0.00
	Custom Made Stand Up Table 36"x 40"H Frame painted in Black	8	\$0.00	Т	\$0.00

Description		Qtty	Price		Total
	Ottomans - Standard Pod Custom Sage Green Monaco	20	\$30.00	Т	\$600.00
	18"RND x 17"H - Cover Color Upon Request				
	Mix and Match Pillows	32	\$0.00	Т	\$0.00
	Coffee Table - 4'x2' Wood trellis - Painted in Green Matching fabrics	4	\$0.00	Т	\$0.00
	Coffee Table - 3' x 2'	4	\$0.00	Т	\$0.00
	Photo Op - 12' x 8'	1	\$0.00	Т	\$0.00
		Total Welcome Night @ Maybourne			\$7,135.00
Educational Par	nel @ Candela				
	Club And Lounge Chairs - St. Lucia - Oak & Linen	4	\$250.00	Т	\$1,000.00
	27.5" x 32" x 28"H				
· ·	Accent Tables - Santa Barbara - Whitewash Mango Wood - Round	4	\$90.00	T	\$360.00
	17"Diam x 18.5"H				
	Barback - Santorini - Floating Shelves In Arkade white 48"W x 18"L x 96"H (without base) - Color Upon Request	1	\$0.00	Т	\$0.00
		Total Educational Panel @ Candela			\$1,360.00
Evening Party @) Candela				
	Stage Treatment for a 38' x 11'H Center 15' Wide to Be sunburst in gold Sequence Left and right - Copper Como Velvet Valance for the entire stage	1	\$0.00	T	\$0.00
	Barback - Santorini - Floating Shelves painted in chocolate 48"W x 18"L x 96"H (without base) - Color Upon Request	1	\$0.00	Т	\$0.00
	Communal Tables - Nice - Mirror Top W/ Gold Frame 96"W x 24"L x 42"H	4	\$180.00	T	\$720.00
	Barstools - Buenos Aires - Gold Upper Loft and Lower 21"W x 17"L x 4'H - Seat Height 30"	27	\$25.00	T	\$675.00
	Booths - Las Vegas - Black W/ Acrylic Legs 2 Pc Set Custom Cover in Cappucino Como with all Pillows 5'4 W x11.2"L x 2.3"H	4	\$600.00	T	\$2,400.00
	Coffee Tables - Athens - Cut Out Round Small - Taupe	e 8	\$220.00	T	\$1,760.00

Description		Qtty	Price		Total
	Coffee Tables - Athens - Cut Out Round Large - Taupe 43 1/4"D x 13"H	8	\$250.00	Т	\$2,000.00
	Ottomans - Standard Pod In Copper Como 18"RND x 17"H - Cover Color Upon Request	49	\$30.00	T	\$1,470.00
	Bars - Mid Century - Multicolor 6' Mahogany Painted 6'L x 31 1/4"W x 42"H	2	\$750.00	Т	\$1,500.00
	Bars - Mid Century - Corners Mahogany 2'W	2	\$0.00	Т	\$0.00
	Barbacks - Oblong - 8'w - Multicolor Mahogany Painted with Copper Insert 8'W x 24"D x 10'H	2	\$0.00	Т	\$0.00
	Sconces - Two Arm Brass Finish 18"3H	4	\$80.00	T	\$320.00
	Mix & Match Pillows Upper Loft -Blush Como- Copper and Cappuccino	16	\$0.00	Т	\$0.00
	Mix & Match Pillows Main Room	32	\$0.00	Т	\$0.00
	Wall Treatment to Partially Cover Candela Stage	1	\$0.00	Т	\$0.00
		Total Evening Party @ Candela		\$10,845.00	
Services					
	Deliver team Maybourne 8 AM Aug 29th	6	\$0.00		\$0.00
	Strike Maybourne tuesday Night	6	\$0.00		\$0.00
	Delivery Panel chairs at Candela	2	\$0.00		\$0.00
	Delivery and installation on Candela Wednesday	8	\$0.00		\$0.00
	Strike Candela	6	\$0.00		\$0.00
	Transportation	4	\$0.00		\$0.00
Please make checks payable to Revelry, Inc.		Total I a	Total Produc		\$19,340.00 \$0.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Wear & Tear (0.00%):			\$0.00
Notes			Packing (0.00	•	\$0.00
INULES			Taxe Discoun		\$0.00 (\$19,340.00)
			DISCOUN	เธ.	(\$19,340.00)

Total: \$0.00
Payments: (\$0.00)
Balance: \$0.00